Trường THPT Nguyễn Văn Cừ
           Năm học 2019- 2020

ĐỀ CƯƠNG ÔN TẬP - MÔN TIẾNG ANH – LỚP 12 
I. MỤC ĐÍCH YÊU CẦU CHUNG:

Yêu cầu: Học sinh tự xem lại và học thuộc: các chuyên đề ngữ pháp, từ vựng và những chú thích quan trọng đã được học.

II. NỘI DUNG:  

1. Thời của động từ 

2.  Sự hòa hợp giữa chủ ngữ và động từ

3.  Ngữ âm và Trọng âm

4. Câu bị động

5. Câu điều kiện

6. Câu với wish/ If only/ as if, as though

7. Các cấu trúc giả định

8. Câu gián tiếp

9.  Liên từ

10. Mệnh đề quan hệ

11. Mệnh đề trạng ngữ

12. Câu hỏi đuôi. Cách dùng too/ so/ neither/ either

13. Giới từ và mạo từ

14. Các động từ khuyết thiếu

15. So sánh

16. Cụm động từ

17.  Đảo ngữ

III. BÀI TẬP

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks. 1 - 5

When young people are asked about what (1) _______they would like to have in the future, they often give predictable answers. Teenagers often want well-known careers like pop star, actor or actress, footballer and so on. Others want practical jobs that they see as being worthy, jobs like doctor, teacher, policeman, etc.

However, (2) _______a job is one of the hardest things to do. Recent research shows that more than eighty percent of people in their thirties are in different jobs (3) _______the one they dreamt about when they were young. Although they may have had a clear idea of what they wanted to do, with time these ideas have changed.


It used to be easier to choose your future jobs. Boys used (4) _______in their father’s footsteps. They would take the job of their father in the same way as he had taken on the same job as his father. At least they knew what the job involved and there was a model to copy. Women used to work in secretarial jobs or caring jobs until they got (5) _______. They would then give up work and have children. So, what do you want to do when you are older?

1: 
A. job
B. work
C. condition
D. requirement

2: 
A. choose
B. chosen
C. choosing
D. chose

3: 
A. to
B. from
C. on
D. by

4: 
A. to follow
B. follow
C. following
D. to following

5: 
A. marriage
B. marry
C. marrying
D. married

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges. 6 – 7

6: Brad: “Would you mind taking those bags to the second floor?”
  Lary: :“________”

A. No, I wouldn’t carry them

B. No, not at all. I will help you
C. Yes, of course. Are you sick?

D. Yes, I would
7: Lan: “Would you say the Great Wall is among the seven man-made wonders of theworld?”

      Trang: “
________”

A. That’s the least I could do.



B. Do you think so, too?

C. It was created by ancient Chinese people, wasn’t it?
D. There’s no doubt about that.

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 8 – 9

8: 
A. patient
B. action
C. attention
D. assistance
9: 
A. weekend
B. attend
C. dentist
D. tendency
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 10 – 11

10: 
A. Vietnamese
B. economic
C. happiness
D. situation

11: 
A. preserve
B. prevent
C. conserve
D. conscious
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions. 12 – 14
12: High blood pressure results from either an increased output of blood from the heart and an increased


                          A                          B

                                
   C

resistance to its flow through tiny branches of the arteries.            

                           D

13: What he enjoys doing most in his free time is going fishing, taking photos or sometimes travel.
          A                                         B                          C                                              D

14: The director was deeply impressed by the applicant about who he interviewed yesterday.                       

                                    A                    B                                C                  D

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions 15 - 22

What picture do you have of the future? Will life in the future be better, worse or the same as now? What do you hope about the future? 

Futurologists predict that life will probably be very different in 2050 in all the fields, from entertainment to technology. First of all, it seems that TV channels will have disappeared. Instead, people will choose a program from a 'menu' and a computer will send the program directly to the television. Today, we can use the World Wide Web to read newspaper stories and see pictures on a computer thousands of kilometers away. By 2050, music, films, programs, newspapers and books will come to us by computer. 

In what concerns the environment, water will have become one of our most serious problems. In many places, agriculture is changing and farmers are growing fruit and vegetables to export. This uses a lot of water. Demand for water will increase ten times between now and 2050 and there could be serious shortages. Some futurologists predict that water could be the cause of war ifwe don't act now. 

In transport, cars running on new, clean fuels will have computers to control the speed and there won't be any accidents. Today, many cars have computers that tell drivers exactly where they are. By 2050, the computer will control the car and drive it to your destination. On the other hand, space planes will take people halfway around the world in two hours. Nowadays, the United States Shuttle can go into space and land on Earth again. By 2050, space planes will fly all over the world and people will fly from Los Angeles to Tokyo in just two hours. 

In the domain of technology, robots will have replaced people in factories. Many factories already use robots. Big companies prefer robots - they do not ask for pay rises or go on strike, and they work 24 hours a day. By 2050, we will see robots everywhere - in factories, schools, offices, hospitals, shops and homes. 

Last but not least, medicine technology will have conquered many diseases. Today, there are electronic devices that connect directly to the brain to help people hear. By 2050, we will be able to help blind and deaf people see and hear again. Scientists have discovered how to control genes. They have already produced clones of animals. By 2050, scientists will be able to produce clones of people and decide how they look, how they behave and how much intelligence they have.

15: The passage mainly discusses ________________.

A. The effect of the futurologists' prediction on our lives.
B. The effect of telecommunication on our future life.
C. The changes in our future life compared with our life today.
D. The importance of cloning in the future.
16:  What can be inferred about the life in 2050 according to the passage?

A. Life in 2050 will be much better than that of today.
B. TV will be an indispensable means of communication and business.
C. People will not suffer from the shortage of water due to the polar melting.
D. The deaf will not have to depend any longer on the electronic hearing devices.
17: We can conclude from the passage that in 2050 ________________.

A. People will be able to travel around the world in two hours.
B. Fewer cars will be used to keep the environment green and clean.
C. No one will be injured or die because of accidents.
D. Space planes will take the place of cars as a means of transport.
18: The word "This" in paragraph 3 refers to __________________.

A. the possible war
B. the cash crop planting
C. the serious shortage
D. the demand for water
19:  What is the author's attitude in paragraph 3?

A. explanatory
B. concerned
C. humourous
D. emotional
20: Why does the author use "prefer robots" in paragraph 5?

A. To show the importance of robots in production.  B. To encourage the workers to resign from work.
C. To compare the robots with the workers.

  D. To emphasize the scientist's role in inventing robots.
21: The word "conquered" in the last paragraph is closest in meaning to ____________.

A. controlled
B. diagnosed
C. transmitted
D. caused
22: What may NOT be true about life in 2050?

A. Many forms of entertainment will come to us thanks to computer.
B. Blind and deaf people will be helped by scientists to see and hear again.
C. Scientists will be able to produce clones of people and decide how intelligent they are.
D. Our sources of water for agriculture will increase ten times.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 23 – 25

23: It was your assistance that enabled us to get achievement.

A. But for your assistance, we could not have got achievement.

B. Your assistance discouraged us from get achievement.

C. If you assisted us, we could not get achievement.

D. Without your assistance, we could get achievement.

24: The thieves wore gloves so as to avoid leaving any fingerprints.

A. The thieves wore gloves so as to not leave any fingerprints.

B. The thieves wore gloves so that not leave any fingerprints.

C. The thieves wore gloves in order not to leave any fingerprints.

D. The thieves wore gloves in order to not leave any fingerprints.

25: “If I were you, I would never be so rude to her.” He said to me.
A. He advised me not to be so rude to her.
B. He suggested that I be rude to her.

C. He said that he would never be so rude to her.
D. He reminded me of being so rude to her.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions. 26 – 27

26: The training course is too expensive. I can’t afford it.
A. The training course is such expensive that I can’t afford it.
B. The training course is too expensive for me to attend.

C. It was such an expensive course that I couldn’t afford it.
D. The training course is not enough cheap for me to attend.
27: My father came home a bit late last night. It started raining heavily after that.

A. My father came home a bit late when it started raining
B. It had rained heavily before my father came home last night
C. It was raining heavily when my father came home last night.
D. No sooner had my father come home than it started raining heavily last night.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions 28 - 32

Today, I’d like to begin a discussion on the problem of the heating up of the earth. First, we’ll touch on the relationship between fluorocarbons and the ozone layer. You probably remember that the ozone layer is the protective shield around the earth. It is important to all life, because it filters out harmful ultraviolet light from the sun. Ozone itself, a form of oxygen, is regularly made by the action of the sun in the upper atmosphere. It is also regularly destroyed by natural chemical processes.


The problem now is that too much of the ozone layer is being destroyed. Scientists suspect that certain chemicals, such as fluorocarbons, are contributing to the depletion of the ozone layer. And how do we use fluorocarbons? The most common uses are in spray cans and cooling systems. The chemical pollution from these fluorocarbons can account for some of the ozone losses that have been reported. There are, however, new studies linking the sun itself to the depletion of the ozone layer. We’ll go into that new study more next time.

28: What will the speaker probably discuss next?
A. The make-up of the ozone layer.


B. How to make air conditioners with fluorocarbons.
C. Harmful effects of ultraviolet light.

D. The sun as a cause of ozone layer depletion.

29: What is the most important purpose of the ozone layer?
A. Providing fluorocarbons.
B. Protecting the earth.
C. Destroying chemicals.
D. Shielding the sun.

30: What is the ozone layer made of?
A. Ultraviolet light.
B. Shields.
C. Oxygen.
D. Fluorocarbons.
31: The speaker’s main topic is__________.
A. fluorocarbons and the ozone layer
B. air-conditioning systems
C. ultraviolet light
D. the use of spray cans

32: What does the word “depletion” in paragraph 2 probably mean?
A. deletion
B. destruction
C. departure
D. deployment
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. 33 – 34

33: Around 150 B.C. the Greek astronomer Hipparchus developed a system to classify stars according to brightness.

A. categorize
B. shine
C. diversify
D. record

34: Every time he opens his mouth, he immediately regrets what he said. He is always putting his foot in his mouth.

A. saying embarrassing things
B. doing things in the wrong order
C. speak directly
D. making a mistake
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 35 – 48
35:  The government has ______ measures to promote the development of the economy.

A. made
B. taken
C. achieved
D. carried
36:  Yesterday, I had to cram all day for my French final. ______, I did not get to sleep until after midnight.

A. Nevertheless
B. However
C. Therefore
D. But

37:  It's no____________ asking him for anything seeing that he's not very responsive to our requests.

A. fine
B. good
C. well
D. need

38:  Everyone is entitled to a ticket, _________ of where they come from.

A. irregular
B. incidental
C. irrelevant
D. irrespective
39:  Not until a monkey is several years old ______ to exhibit signs of independence from its mother.

A. does it begin
B. and begin
C. that it begins
D. beginning
40:  British and Australian people share the same language, but in other respects they are as different as _________.
A. salt and pepper
B. here and there
C. cats and dogs
D. chalk and cheese

41:  Whether the construction of the new road comes true is ____________ winning the support of local residents.

A. responsible to
B. dependent on
C. thanks to
D. reliant on

42:  I had a good impression of his appearance when I first met him as he was quite _____.

A. good- looking
B. easy- going
C. heart- breaking
D. kind- hearted
43:  It is essential that every student _________ to learn English at university.

A. had
B. have
C. has
D. to have

44:  By 2050, medical technology ________ many diseases.

A. will have conquered
B. will conquered
C. is conquering
D. has conquered

45:  _______ you study for these exams, _______ you will do.

A. The more hard / the more good
B. The harder / the better

C. The hardest / the best
D. The more / much

46:  The class is not as crowded as usual because a large number of students have ________________ flu.

A. kept up with
B. gone up to
C. got way from
D. come down with
47:  Why don’t you get your motorbike ________? It’s too dirty.

A. washed
B. be washing
C. wash
D. washing
48:  No one seems to care about the environment, _________?

A. are they
B. do they
C. don’t they
D. does he
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 49 – 50

49: He is the man who owns all the land and is the big fish around here.

A. the inessential man
B. the huge man
C. the important man
D. the enormous man

50: It is inevitable that smoking will damage your health.

A. invading
B. harmful
C. avoidable
D. unhealthy

